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Home Work 2

Cov[b,,b,,b]=0.05
. 1 2 Cov[b,,b,,b,]=0.025
myrua A= ua
2 5 Cov[b,,b,,b,]=0.001
Cov[b,,b,,b,]=0.001

Find Cov[x@ xxT}

Solution

From [A® A][x® xx" JA" =b®bb" > [A® A]Cov[x® xx" JA" =Cov[b®bb']
> Cov[x®xx']=[A® Al 'Cov[b ®bb"J(A™)"
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Cov[b,b,,b] Cov[b,b;,b,] 0.05  0.001
Cov[b,,b,b,] Cov[b,,b,,b,]| | 0.001 -0.001
Cov[b,b,,b,] Covlb,b,,b,]| | 0.001 -0.001
Cov[b,,b,,b,] Covlb,,b,,b,] -0.001 0.025

Cov[bo®bb'] =

'Xl’xf o || [ xx,
2
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Covlx, X, %] Covlx, X, %]
Covx, %, X1 Cov[X,, X, X ]
Covx, %, X1 Cov[X,, X, X ]
Cov[x,,x,,x] Cov[X,,X,,X,]

> Cov[x®xx']=

25 10 -10 47 0.05 0.001
10 5 4 -2/ 0001 -0001][5 -2
~[A® A]"Cov[b ®bb" J(A™Y)" =
10 4 5 -2 0001 -0001|-2 1

4 -2 -2 1 ||-0.001 0.025

Cov[x, %, %]=584  Cov[x,x,Xx,]=-2.307
Cov[x,, X, X,]=—-2.307  Cov[X,, X,, X ]=0.909
Cov[x,, X, X,]=—-2.307  Cov[X,, X,, % ]=0.909
Cov[X,,X,,%]1=0.909 Cov[X,, X,,X,]=-0.357

s Cov[x®xx']=
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